Serial Ne. Of the Answer Book
Roll No, (in Bgared : .

{in Words) s i

Superintendent Seal & Signature  FIC. No (For office use only)
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PHYSICS(10™)
Potal Time: 2: 3 Hours Max: Marks: 65
Note:  There are TTIREL Section of this Paper i.e. A.B and C, attempt each according to the given instructions.
Time: 15 Minutes SECTION-A Marks: 12

Note: Attempt all pirts of section — A Seetion —A must be return to the superintendent after 13 minutes even if you have
not atlempled any question. Overwriting/ defacing/Cutting ete is prohibited in Section-A and no credit will be
given to such answer

I Write the correct option i.e. A/B/C/D in the empty boxes.
i Light waves travel through atr at aspeed of /s ——
; 7
(A) 310" (B)3x10” TR (12)3%10 [ ]
ii. Waves transport! =
{AMatter (B)Energy (CEnergy and matter(D ) None ol liuw-f:[ |
il Fvery complex vibration is composed of o number o vibratioms. —
(Alsimpe harmonic  (B)Natural (Cilarge (D y5smali [
iy The ratio of the sine ol the angle ol incidence to the sine of the angle ol refraction 15
(A) Magnification  (B)Relmetive index  (O)Variable (IDeviation ]
v Stze wise, the diameter of anatom is times the diameter ol its nucleus
LA (310} (0] N0 [
Vi, ['he limear magmification M= S
f APy (Byg/p LT (Dl | ______ |
Vi Fhe property of substance. which npposes the flose of cunrent through it is called its
(AR esistivity {1 Resistance __l
(Y onductivity (I oefficient of resistivity
viil A galvanometer can be converted Into an ammeter by connecting a low resistance
) with the galvanometer I
(A0 series (13 )In parallel (b acombined way(12)in no way | _
N, When - particle passes through a gas 1t produces —
(AOxidation (Bylomzation (Calvapor ation (I3 Fission L
X Fhe out put of AND gate will “1779f r—
(Aot in puts are zero (Bl ather of the inputs are zero M—
{CBoth in puts are 17 (InEither e of the input is 1
X1 Telephone receiver converts electrical signals mto L
(A)Radio waves  (B)Light signals (C)Sound signals (I2radar signals
®ii, In human brain there are about nervecells 1 _|

(AGS Billion (BYEOBiion (O3 hillion (13 Bitliemn e
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Physies-(10") {
Note: Time allowed for section B and C is Zhours 15 minutes.
SECTION -B Marks:32
IL. Attempt any eight parts of the following. Each part carrics equal marks.
1) Define simple harmonic motion describe its characteristic features.
ii) Iiefine resonance. Give three examples .

iif)  Which four special rays are utilized for the construction of images inspherical mirrors.Also
draw the diagrams.

iv) What are the chief defects of vision.? How can each defect be corrected?
V) [istinguish between electrical conductors and insulators. Explain the electrical
C omductiviiy of materials on the basis of the atomic electrical theory of matter.

Vi) refine eleetrie power and its unit . Express electric power in terms,
O watts law as well as Joules Law.

vii)  Dioseribe the uses of radio isotopes in the field ol agriculture and industry.

viil)  What i% electronics? How electronics have influenced our daily life.

iX) Deseribe the principle , construction, working and uses of DC motor.

%) Wrile about the task of word processing.
xi) Ilow isa totally reflecting prism used to tum a beam of light by 90" . show it by diagram
nlso.
SECTION - Marks:21

Note: Attempt any THREE guestions of the following. All questions carry equal marks.
[11. a) what is meant by interference of waves describe constructive interference and destructive mterference.

h) Find the lenith of a sccond pendulum at a place where the value of ‘g’ is 9.8m/s’
IV a) Explain the experimental method for finding the velocity of sound.

) A charge ol 25 peis placed in air at a distance of 0.5 m from a charge(-30uc}),
Find the forco on each charge.

Vooar Derive miteo formula for concave mirtor

by an object is placed at a distance of 4em from a con cave mitror - the radjus of curvature is [2em
Where is the image formed discuss the features of the image.

VIState and expliin coulomb’s law. Define the unit of charge

Two charges 1.67ue and -0.60 pe are placed 0.4m apart. Find a point *P” between and beyond
lhe charges  here o test charge will not experience any force.
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Total Time: 3 liours Max: Marks: 75
Note:  There a1= THREFE Section of this Paper i.e. A.B and C, attempt each according fo the given instructions.
Time: 20 Minutes SECTICN-A Mnrks: 15

Note: Attempt all parts of section — A Section —A must be r=tern to the superintendent after 20 minutes even if you

have not utiempted any question. Overwriting/ defacing/Cutting ete is prohibited in Section-A snd no credit
will be given o such answer,

L Write the correct option i.e. A/B/C/D in the empty loxes.
i. They are laughing him
| (A)on (B)at (C)in (D)upon L]
! i, Awakel Arise! The is late:
(A)Time (B)Man (C)Hour (D)boy E:]
i, When they arrived in China | they slayed for a long time at the city of 5
(A)Campion (B)Peking (C)Cambalu  (D)Ceylon ||
iv The reason for this popularity is not far to
| (A} Find (Bises (C)seek (D)search _|’
| V. Once Hazrat umar (RA)saw _ who looked very lean and thin.
(A)A small girl (B)A small boy (C)A man (D)A woman
v, The drug addict looks
(A) Weak (B)F rail (C)strong (D)smart i :
| Vi, The bright student is reduced to o
\ (A)Not (B)Nothing (C)Zero (D)hone L]
- viii,  "Think times before you take the decision” Jinah told the league at lahore.
: (A)Many (B)A hundred (C)A thovsand  (D)all the above ||
I| ix. Multan is farnous for - F——
i (A)For coats (B)Nal poltery(C)Stone bowls(D)camel skin lamp shad;._:[ 3
X He cul a tree’ Iis passive voice isAtree out by him
(Adis (Blwas (Cihas been (DYhad been E
xi, He said , "Are you felling well 7 its indirect narration is he asked if __ feeling weli.
(A)l am (B)l was (C) had been  (D)You were E:I
i They have been playing_ meming [—:‘[
(A)Sirce (Bitar (Y ar (D)from !
xiii.  The grapes SOUL.
(A)is (B)are (C pwas tNyhad D
; xiv, MHehas_ _ his task. [‘:]
' (A)finish (B)finished (Cifinishes (D }finishing =

xv. O pecplel Have | {ul filled my

———y

(A)Promise (B)Mission (C)Task (DjResponsibilitl | *
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Notes Time allowed for section B and C is 2 howrs and 40 minutes.
STCTION-B Y Marks:36
11: Attempt any five of the following . All paris carry equal marks. 15
i) Who were the Quraish?
ii) What is the role of trafic lights?
iii) It what century are we living now?
iv) How is the program of the show arranged?
V) How did the people of Jilan coms tr Enow tial he was a chosen child?
vi) What is camel skin used for?
vii)  lHow has the increase in population affected the lives of the people in Pakistan?
I Parapliase one of the following. 05
i) Whose woods these are [ think 1 know,
His house is in the village though,
He will not see me stopping hers,
I o wateh his woods fill up with snow.
i) Awake! Arise! Thieathlete's arm
|_oses its strength by too much rest,
I he fallow land, the untilled farm,
Mreduces only weeds al best.
iV: Read tii- stanza carefully and answer the questions given at the end. 04
Photgh not as a4 mope,
Who quakes out of fear
I'he whip or the rod
Shewld fall on his rear,
Questions, 1) Does a good boy queke out of fear?
it} Does a whip or rul full on the rear of a good boy?
iii) Who is mop?
iv) Whu is the poet of the poem?
Vi Rend 1he passage carefully and answer the gaastions given nt the end 05

A diug sbuser is a person who uses dings for other than medical purposes, He uses drugs
Becuuse he is addicted to them. The number of drugs addicts is rapidly increasing. It has
ruined the lives not only of these addicts but also of their families. it is alarming .

The drug addict looks frail. Fe is intexicated and lives in fantasies, forgetting the realities

CF lite.
Queste s 1 W is a drog abusor?
i) Whi does he use drugs?
i) Does the addiction affest the life of drug addict only.
iv) The drug addict lives i fantasies, what does it mean?
V) What is meant by * alaming'?
vi) .
Vi: AU se mey tov parins of wonds in your ewn sentences: 04
i ilew, Hos
1) et mical
Nii cell, sell
i ail, hale 5
Bptiee oy three plirases in vour own sentences. 03
I peet ol
i) L Ised m

1 ot o F"I!_J,]ﬂ
1] Oyt ot
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SECTION-C

VII:  Write an ESSAY 0f200 words on any one of the following topics. '
a. Drug addiction g
b. The unforgettable incident of my life
- ¢. My country 1
VIIE  (A) translate the following into urdu 08 -

Refugees from Kashmir have settled in many towns, and wherever you go you will find example
(f their art and skill: furniture, boxes and house hold articles of many kinds, usually made of
Seasoned walnut and decorated with the traditional designs of leaves. Gaily coloured plates,
Vases and bases for electric lamps and so on .

(B) 1) Accidents are mostly caused by people :
- i) He loved his young nephew dearly. g
iii) The girl looked very lean and thin.
iv) All disputes should be referred for decision to Muhammad (SAW)

IX:  Translate any six of the following sentences in to English. 06
AL it Euy (2) a2 S7(1)
eI e S e i (J(3)
AL Aa kL I )(8) il E(5)
"i'nﬁ‘..r;_.-u.l&"!;;g(&} ~e e paliae(7)
OR

Write a dinlogue between two students discussing the English paper.
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BIOLOGY(10™)
Total Time: 2:30Hours Max: Marks:65
Note:  There are [ HREE Section of this Paper i e. A B and C, attempt each according to the given instructions.
Fime: 15 Minutes SEC -A Marks: 17
Sote: Attempt all parts of section - A Section —A must be return to the superintendent after 15 minutes even if vou

have nit attempted any question. Overwriting/ defacing/Cutting ete is prohibited in Section-A and no credil
will be viven to such answer.

L Write the correct option i.e. A/B/C/1Y in the empty boves,
I Blood groups are of o ] —)
{AJone type (BYTow types (C)Three tvpes  (D)Four types (S
i Ihe luss of water from the aerial part of a plant is called. =
{A)Transpiration (11 Xvlem (C)Phloem (D)DilMusion L
pii. [ earth worm the excretion organs are. "
(A)Flame cells (B)Malpighain tubules(C')Nephridia (ID)None of these I:I

L

iv Which gland regulates the level of phosphourus in the bones.
(A) Pituitary gland  (B)Thyroid gland (C)Adrenal gland (D)Parathyroid gland
W When the lens of the eye becomes opaque. This defect is ealled, I:I
(A)Cataract (B)glaucoma (C)squint (D)long sightedness
vi. I'ree movements in response 1o the external stimuli are called }
(A) Tropic movements{ 3 )Nastic movements(C)Tactic movements(D))Turgor movements
Vik. Formation of sperms in (he testes of male is called
(A)spermatogenesis (B)0ogenesis {C)Gametogenesis(D)None of these I—_I
viii.  The process by which a new plant is obtained from a bud is called.
(A)budding (I¥)cuning (Chralting (I2)None of these [_
ix. Genes responsible for colour blindness are located on
{A)x-chromosomes (B)Y-chromosomes
(C¥Autosomal chromosomes (D)Both x and v chromoesomes
X The relation ship between termite and the fagellate protozoan is called. :
(A)Commensalism  (B)Mutualism (C )parasitism (D)None of these [ =
i ATDS is caused by <
(AdDacteria (B ungus (U W irus (IHAL of these I_
Xl Hhe numiber of pair of nerves arising from the brain are L_]
(A)32pairs (321 pairs (1] Dparirs (1) 1 Opairs =




Mote:

Note
[1La)

b)
[N a)
b)
V)
b)

Via)

| 101001
BIOLOGY(10")
Time allow ¢d for Section B and C 2:15 Houss.
SECTION-B Marks:32
1l: Answer any 8 of the following questions. All questions carry vqual marks. 1
i}. what do you know about active transport?
1) Write shurt note on blood groups.
i) 3ifferentiate between bone and cartilage.
V) Ixplain the structure of human ear
v) Describe the types of neuron..
vi) What do you know aboul genetic engineering . Explain.
vii)  Wrile a short note on air pollution.
viii)  Differentiae between cross pollination and self pollination.
ix) Ditlerentiate between homozygous and heterozygous.
x) Define food chain . Explain withi example -
xi) What is haemophilia?
SECTION-C Marks:21
:'&nﬁer any THREE questions out of the following. All questions carry equal marks.
Describe the structure and functions of human kidney. 4
Differentiate between xylem and phloen: . 3
Deseribe the role of plant hormones 4
Write & <lort now on grafling 3
Deseribi the structure of muiz gram 4
what arc the various methods for the control of microorpanisins? 3
Discuss arwin theory of evolution, 4
3

b)

Write a ot on the biotic factors i the ecosystem.
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MATHEMATICS(10™)

Total Time: 3 Hours Max: Marks: 75
Note:  There are THRE I Section of this Paper i.e. A.B and C, attempt each according to the given  instructions.
Time: 20 Minutes SECTION-A Marks: 15

Note;  Attempt all parts of section — A Section —~A must be return to the superintendent after 20 minutes even if
vou have not attempted any question. Overwriting/ defacing/Cutting ete is prohibited in Section-A and no
credit will be given to such answer.

1. Write the correct option i.e. AIBICID in the empty hoxes.
i The roots of the equation. x2-5%+6=0 are
(A)x=2.6 (B)x=2,3 (C)x=3.6 (D)x=6,9 L]
ii. The solution set of (P-1)(P-2)=0 is -----
AX 1) B){ 2) (©){1.2 ) (D) -1,2} L]
ifi. if y=4x +3 and 2x+ y +1 =0 then y free equation will be
(A)6x + 6=0 (B)3x + 9 =0 (C)6x +4=0  (D)3x+1=0 ]
iv The solution set of the radical equation ¥ x+5=34s
(A2 ] (B) {3) (C)14) (D) {5) [ 1]
V. The mean proportional of 12 and 3 is
(A)36 (B)18 (€)72 (D) £6 ]
vi. %' varies inversely as 'y’ and when x =4, y=6then K=
(A)24 (B)36 (€)12 (D)10 ]
vii.  The chord which passes through the centre of circle is called
(AMiddle (B)Chord (C)Radius (D)Diameter |
viii. Indata 5,10, 15, 18, 24, 30, 40 the range is
(A)30 (B)35 (C)40 ()45 [ ]
ix. Sin?0 1 cos’0=
2 2 L]
(A2 (B)1/4 (C)zere (D)1
X. Sin6l’ -
(A3 (By 1 (€)1 (1) 2 ]
2 2 Vi Vi
X, ifyocxind x=4, y=6,then K=
(A)24 (B)12 (C)372 (12)2/3 [ ]
xii. Cot33" 1an
(A0 (B)40° (C)50° (12)55° .
xiii.  In the dnta 35,25,40,25,20,35,30.25 mean is [ ]
(A)S8 7 (B)19.375 (C)39.375 (D) 29.375 ]
xiv.  Inscribed angle in a major arc is
(A)right angle  (B)Obtuse angle (C)Acute angle (D) None :!
xv.  Distance between any point of the circle from its centre is called
(A)langent (B)circumference (C)Radius {D)Diameter
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MATHEMATICS.(10")
Note: Time allow cd for section B and C is 2 hours #od A0 minutes.

SECTION -B Marks:36
IL Attempit any Nine questions . All question carries equal Marks.
i) Find the solution set of the equation. | 15x —TT -4=4
i) Sum ol three consecutive natural numbers is 51 find the numbers.
iii) | ind the solution set by quadratic formula, 2x*-x+3=0
iv) I'liminate *x* from the following equations. X - 1 =P+1, X+ 1 =2p+3
X X

V) w7 varies inversely as 'y” when x=3,y=12 find 'y’ when X=6
vi) find the value of *x’ -

Vix+2+ x = 4

Vix+2 Vx| I

vii) 1 3x-——1 :5:35are in continued proportion. Find the value of *x’
viii)  Find the arithmatic mean for the following data.
Giroups: 1-3 4-6 79 10-12 13-15
Frequency(f). 3 8 15 15 5
ix) Calculate the variance and standard deviation .
%= 2 5 8 11 14
{- 2 4 0 (i) 2
X) Iove that Cos’d - sin’8 = 1-2sin’0
X1) Solve A ABC when m= ¢ =90° , b=\em, a=1um
xii)  [oudhe trigonometrie ratios of 437,

SECTION -C Marks.24
ot Attempt any | HREE questions Al questions carries equal marks.
1. The sum of the measures of any two sides of a triangle is greater than the measure of the third side
V. Line segient joining the centre of a circle to the mid point of a chord is perpendicular to the
chord. o o
V. Construct a triangle ABCin which m AB=3cm.m BC=3.5cm and m~B = 45° draw the

Perpendicular bisectors of the three sides,
VI Radius of circle is 2.5¢cm € is al a distance Sem from the centre of the circle . Draw

Tanpents to the circle from point )

r

T T —
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Max: Marks: 65

Note:  There are THREE Section of this Paper i.e. A.B and C, attempt each according to the given instructions.

Time: 15 Minutes SECTION-A

Marks: 12

Note: Attempt all parts of section — A Section —A must be return to the superintendent after 15 minutes even if you

have not attempted any question. Overwriting/ defacing/Cutting etc is prohibite

be given to sucl answer.
& Write the correct option i.e. A/B/C/D in the empty boxes.

d in Section-A and no credit will

i. I'he chemical formula of magnetic oxide of Tron is
(A)Fes Oy (B)FeO (C)Fes0s (DFe:0520,0 L[]
il (‘uprite is an ore of .
{A)Magnesium (B)lron ({CiCopper {D)Manganse I:
iil. Irass contain copper.,
AN (B)y76% (C)30%% (1)70% :‘
v Oxyeen is present is air by volume.
(A) 21% (B)70% (C)20% (12)77% l:]
Vi Sudden expansion of any gas cause cooling.
(A)Boyle effect (B)Joule Thompson effect(C)Crooks effect( D) Charles effect [ |
vi. K.0); is an example of oxide,
(A)Super Oxide  (B)Per Oxide (C)Amphoteric Oxide(D)acidic Oxide [__]
vii.  When Nitric Acid (dilute) reacts with eopper.
(AN (BN (LN (DN L ]

Vil Puint is mainly applied to a metallic surface to Avoid.

i A orrosion (B)Erosion (C)yAbrasion (I Atrition |
X [rine is the nanre employed for solution of. —
(AN (BN (C it O (1DNaCOs L..J
X. O is a functional group which corresponds to
{A)Alkane (BiAlcohol (T 1Adldehyide (I)Ketone D
Xl Gasoline is a mixtureof hydrocarbons contianing Carbon atoms per muolecule. )
(A)lod {B)dtolh (C)olh (151022 EJ
Xii. lincture lodine is a dilute selution of Todine and, [_‘__‘l
(A)Water (B)Ethanol {CiMethanol (D) Acetone
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| SECTION -B

MNote:Tiune allow ed for Section-B and Section-C is Two hours and 15 minutes.

II: Answer any Eight parts . Each part carries FOUR marks.

b
i)

vi)

vii)

What is NASCENT HYDROGEM?

State ores of copper.

What is Functional group?

What is silica Gel? Write its uses.

Write two chemical properties of Hy04.

State Four uses of HYDROGEN.

Differentiate between soap and detergent.

viii}  Sulphuric Acid ( H:804) acts as dehydrating agent. Explain it.

X)

Xi)

State . physical properties of water.

What is an ore?

Explain that bleaching action of chlorine is permanent in the presence of water.

Marks:32

SECTION -C Marks:21

Note: Attempt any THREE Questions . All Questions carry equal marks.

Ill..a) Describe causes of water Pollution and discases caused by water Pollution.

b) What is tlic reaction of Hydrogen with

i) Ca

i i) N3 iv) WO,

IV: a) Describe Ustwald’s process for preparation of Nitric Acid,

b) Explain Allotropic forms of sulphur.

Vi a)Deseribe the extraction of copper from sulphide ore,

b} Give reaction of chlorine with.

i) P

i) KBr i) 8Os iv) F. Cls

V1:a) Discuss the various methods of food preservation.

b) Give reaction of acetylene with.

1) Ha

i) Cly G HL  iv) Oy

03

U4

04

03

03

04
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